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And one of them was borrowed to him — 37 TR YD PR

OVERVIEW

The X 13 queried; what is the law in a case where he borrowed a cow from two
partners and one of the partners was working for the "X at the time of the 79°Xw:
do we require that the entire owner be 9Xw1 (in order to consider it 2°2v22 77°1WY),
and since the entire owner (both partners) was not X1 he is 2>, or since half the
owner was X3, he should be exempt from paying half.

n1voIN asks:
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It is astounding! What is the query; for since if all the owners would be ®xw:

to him, he would be 9125 from everything, so now he should be 91 from half!
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As 7411 20 stated in 772v9% 279 that when the 77 0 writes 9p2a mwnan it means even
five half-apa.

N0 answers:
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And one can say; that there (by rmav 213) it is logical that he should pay

according to what he stole -
$IWITN NIN 12 10 PN SWITND 1) 919D XY1D PPN DIDYAL NYINY YaN

However there is no logic that 2°5y22 798w should be exempt from paying, so

it is a novelty (a w17°17), and you may only have the w57 as it is written; the entire
owner, but not half an owner; the rule of 2°%v22 77w does not apply to half an owner.

SUMMARY

"It should be considered as if he owes each partner half, and he should be exempt from paying the partner who was
MY PRV

2 The case there is where one was M 213 a MW which belonged to two partners, and he admitted to one of the
partners that he was ravy 213, thereby freeing himself from paying the 01p of ' '7 to this partner (since P2 777
D). 1" ruled (in the conclusion) there that he needs to pay (the value of) five half-1pa to the other partner. We see
that each partner is considered a separate half entity. mooin asks that here too he should be 75 from paying half,
since one partner was in his employ.

319,80 (@wawn) MW reads MW NN 22w P2 Twan (regarding 77171 AP0 A201).

4 Therefore even though he does not pay to the partner whom he admitted to, nevertheless it is logical that he pay the
other partner, for he was 11av1 213 (the w17°n1 there may be that he does not pay the one whom he admitted to).

3 There is no logical reason why one is M9 if it was 0°72vy22 79°XW (especially since we maintain that nywa my 7°0
7NN 772w NYwa my naR X'R 79°RY). See ‘Thinking it over’ # 1.
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We cannot use logic to resolve a law which is a v17nm!

THINKING IT OVER

1. nvoIn answers that the Mwd of 0°H¥22 77°XY is a WI1Tn and W77 X9X 12 72 7RI.°
Seemingly the rule of 'm '7 is also a 17°n, and nevertheless we say P2 "X awnm;
what is the difference between the w17°n of 0°%v22 77w and the witn of 'm 7217

2. Regarding a YR the 770 writes® 07w 0w vy 1°X 19y2. Why did not X»am 92 om0
pose his question in the opposite manner, since the 21r to pay is only when 1°5v2
MY 7R, what is the rule if only one of the amw were 1y X (but the other was mvy),
is he completely ™o since not all the 0°%¥2 were Y X (only one was 1Y 1R) or is
he 211 for half. Instead of asking is he M5 from half (or 211 for all), the question
could have been is he is he Mo from all (since it was not ¥ 1°%92 X completely)
or 211 for half’

¢ See footnote # 5.

7 See w"w" and 5" 'oIn.
8 0,20 (Dwown) Mnw.

? See X"wAn.
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